TABLE OF CONTENTS:

PAGE 1 | COVER, TOOLS REQ'D ggﬂﬁ
PAGE 2 | HARDWARE PROVIDED & !
PARTS LIST = L
PAGE 3 | ASSEMBLY INSTRUCTIONS S
PAGE 4 | ASSEMBLY INSTRUCTIONS ém |l RS
(CONTINUED) I E.AMMABLE i FLAMMABLE
—— | =
- i —EEH
d = =]
:;% T
h ] =
2aiz3
==
TOOLS REQUIRED:
. 716"
7186 [11mm]
[11mm]

OPEN END WRENCH MEASURING TAPE

www.FoldingGuard.com

FGI-653 RevA 04/24/13 Copyright © 2013, Folding Guard. L & P Guarding, LLC.

PAGE 1 of 4


laura
Rectangle


HARDWARE PROVIDED:

: é g\ HARDWARE LIST:
\‘ > C) 1/4"-20 x 1" SQUARE NECK CARRIAGE BOLT

) 1/4” FLAT WASHER
'. < %

E) 1/4"-20 HEX NUT
K x 96 x 96 X 10

X1

) 1/4"-20 x 3/4” SQUARE NECK CARRIAGE BOLT
) 1/4”-20 x 1-1/2” SQUARE NECK CARRIAGE BOLT
A) 1/4"-20 x 1-3/4” SQUARE NECK CARRIAGE BOLT

KT014

PARTS LIST:
AN
LIl Q
K
o | \ X2
N
L] \
R
N HARDWARE KIT (x1)
o . N
N
¢
LN
s o \
DN
N DANGER GAS
s N FLAMMABLE SIGN (x2)
R
L] \
s L

VERTICLE DOOR: WELDED PANEL: WELDED LOCKING
ANGLE (x8) WIRE MESH (x2) WIRE MESH (x5) BAR (x2)
)
)
SHELF (x8) SHEET METAL TOP (x2)

FGI-653 RevA 04/24/13 Copyright © 2013, Folding Guard. L & P Guarding, LLC. PAGE 2 of 4



]
z s5oh
] S
1 *,
L]
z .
; §'§ ;ﬁ
] 55
/
INSIDE VIEW 2 '~
"\\: ’ ﬁj L ‘§,.9§*‘
s 5\ < 55
~ /§ BN

% gl
e "o é,( z S
zz
;/
LEFT & RIGHT PANEL %% CENTER PANEL
ASSEMBLY % ASSEMBLY

'

) 4

y J

RN OO T

INSIDE VIEW

XXX XXXXXXXXXXXXXXXXXXXXXXXX

NN NNNNN IV LY. .Y

\ \XXX'XXXXXXXXKXXX KA K K KX K XA K XX XA

AR NR\AAUATAVAVAVAT
NS A A A A A

NN YN YY
AARRRRRRY00.0.0.00.00.0.0:0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.
\AA/
a lx nY “Y ny m‘l “X n]! n]!ml n’
O O T L Y

BACK SIDE VIEW "

5

TLPVATEEEL LT e o o ey

AP

NOTE: THIS SIDE IS

ASSEMBLED IN STEP 1 \

INSIDE VIEW
NOTE: REPEAT STEP 4
TO INSTALL THE REST
OF THE SHELVES

BACK SIDE VIEW

FGI-653 RevA 04/24/13 Copyright © 2013, Folding Guard. L & P Guarding, LLC. PAGE 3 of 4



FRONT VIEW WITH TOP
INSTALLED

INSIDE VIEW

TYP. LOCK INSTALL
TYP. HINGE INSTALL

X3

%
LA ::4\

NOTE:
L4 FULLY TIGHTEN ALL NUTS

L4 COMPLETE STEP 7 & 8
FOR BOTH DOORS

INSIDE VIEW

A A

D) R DANGER

FLAMMABLE FLAMMABLE

NOTE:

o CHECK DOOR ALIGNMENT, ADJUST DOOR
9 HEIGHT ACCORDINGLY.

o ZIP TIE DANGER SIGN TO LOCKER DOOR

ji

ol

FGI-653 RevA 04/24/13 Copyright © 2013, Folding Guard. L & P Guarding, LLC. PAGE 4 of 4



